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Level 2 Social Studies, 2017

91279 Demonstrate understanding of conflict(s) arising 
from different cultural beliefs and ideas

2.00 p.m. Thursday 30 November 2017 

Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of 
conflict(s) arising from different cultural 
beliefs and ideas. 

Demonstrate in-depth understanding of 
conflict(s) arising from different cultural 
beliefs and ideas. 

Demonstrate comprehensive 
understanding of conflict(s) arising from 
different cultural beliefs and ideas. 

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL parts of the task in this booklet.

Pull out Resource Booklet 91279R from the centre of this booklet.

If you need more room for your answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–14 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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TOTAL

Low Merit

05

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.























     

Merit  exemplar  2017  

Subject:   Social  Studies   Standard:   91279   Total  score:   M5  

Q  
Grade  
score  

Annotation  

1   M5  

This  is  an  M5  because  an  explanation  of  how  the  two  social  forces  has  

contributed  to  the  conflict.  The  response  given  in  Task  (c)  does  not  give  

enough  explanation  to  gain  Merit  as  it  describe  the  force  but  does  not  include  
a  description  of  how  the  fore  contributes  to  the  conflict.  However,  the  

information  given  in  Task  (d)  provides  fulfils  this  requirement.  For  example,  the  

response  given  in  Task  (c)  explains  what  campaigning  is  but  it  is  not  until  Task  
(d)  that  the  candidate  shows  understanding  of  how  campaigning  contributes  to  

the  conflict  –  by  informing  people.  

To  strengthen  this  response  to  an  M6,  a  more  in  depth  explanation  of  how  the  
social  forces  contribute  to  the  conflict  is  required.  

  

  

  

     


